

Mar 20-5:55 AM

1) $2 n^{2}-6 n=-8$
$\frac{-b \pm \sqrt{b^{2}-4 a c}}{2 a}$
$2 n^{2}-6 n-8=0$
$\pm$ means plus or
$A=2 \quad B=-6 \quad C=-8$
$\frac{-(-6) \pm \sqrt{(-6)^{2}-4(2)(-8)}}{2(2)}$
$\frac{6 \pm \sqrt{36+64}}{4}$


Mar 20-6:03 AM

## The Quadratic Formula

- a formula used to solve a quadratic function written in standard form: $a x^{2}+b x+c$

```
-b\pm\sqrt{}{\mp@subsup{b}{}{2}-4ac}
2a
```

With your shoulder partner: Make a list of steps that will help to solve the quadratic formula.

Mar 20-5:58 AM


Mar 20-6:03 AM

